(1)

moves towards a state of thermodynamic equilibrium-("volume") ~> currents & fluxesr: Vp <> momentum transport. Vn <>> mass transport. VT <>> heat (entropy) transport 'roughly". Asciomatic thermodynamics.

Defines thermotynamic state variables (T, E, S,) ~ Jepend only on the thermodynamic state, Ciollection of state variables define thermodynamic state + equations of state which relate various state variables, erg BP=P Cidenl gas) Jutensive variables: Extensive variables:

fi= (p, u, y, E, B,) X= (-V, N, A, P, H,) "generalised forces" "generalised displacements". Since product is a form of work. Laws of thermodynamics.

Oth Low Systems A & B are in thermal equilibrum G> TA = TB:
Property is transitive: A in eq. with B and B in equilibrium with Q
=) TA = TC, A is in equilibrium with C
Crelevant for thermometers). Applies also to mechanical and chemical equilibrium.
1st law There exists a state function E called internal energy willibrium.
E is concered : dE = dQ + dW
G: heat absorbed by the system.
W: work done on the system.
Configurational work: dW = f.dX.
2nd Law There exists a state function S called the entropy.
S is extensive and additive. Since it is a state function of S is extensive and additive.

Sis postulated to be a monotonically increasing function of E. For isolated system: S=S(E,X) AS= Jod SZO for any process connecting thermodynamic states a and b. where equality holds for reversible processes, and strict inequality for spontaneous lie vrever sur J_{T} . Gorrallary Gonsider $JS = \begin{pmatrix} \partial S \\ \partial E \end{pmatrix} \overset{dE}{\overset{}}_{K} \begin{pmatrix} \partial S \\ \partial X \end{pmatrix} \overset{\cdot}_{E} JX$. (=) spontaneous (i.e. irreversible) processes. For reversible process: dE= [JQ)rev + f-dx $dS = \left(\frac{\partial S}{\partial E} \right)_{X} \left(\frac{\partial Q}{\partial P} \right)_{EV} + \left[\left(\frac{\partial S}{\partial E} \right)_{E} + \left(\frac{\partial S}{\partial E} \right)_{E} \right] \cdot \frac{1}{2} \left(\frac{\partial S}{\partial P} \right)_{EV}$ For adiabatic reversible process: (2G)rev=0-But (*) must hold for all reversible processes , thus: $(\frac{\partial S}{\partial X})_E = -(\frac{\partial S}{\partial F})_X + \frac{\partial S}{\partial F}$ Since S monotonically increases with E: $\begin{pmatrix} \partial S \\ \partial E \end{pmatrix} = \frac{1}{T} > 0$ Therefore: $\left(\frac{\partial S}{\partial \overline{X}}\right)_{E} = -\frac{\overline{F}}{\overline{F}}$. So we conclude for reversible processes: dS= + dE - f/J.dZ 6) dE=TdS+f.dx. In other words S is the exact differential corresponding to heat transport with temperature being the integrating factor. See Ghandler Smaximal for isolated system => Eminimal. =) I must be constant in space in equilibrium. (eq. condition) and the >0 (stability condition)

3



So we find:

$$f_{g} = L_{gp} \nabla (-4) + (L_{pe} \nabla (+))$$
 Cross coefficients.
 $f_{g} = (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Sore influent
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Coupling between mass & heat
transport.
Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+)$ Temperature gradient
 $f_{e} (L_{ep}) \vee (-4) + L_{ee} \nabla (+) + L_{$

Recall:
$$dS_i = 0$$
 for reversible (equilibrium) transformations.
 $dS_i > 0$ for increasible.
 $dS_i > 0$ for increasible.
 $dS_i > 0$ for increasible.
 $dS_i > 0$ for adiabatically
increases with surroundings.
Adiabatic systems: $dS_i = 0 \implies dS \ge 0$ for adiabatically
insulated system.
For closed system: $dS_i = 0 \implies dS \ge 0$ for adiabatically
insulated system.
For closed system: $dS_i = 0 \implies dS \ge 0$ for adiabatically
insulated system.
For closed system: $dS_i = \frac{1}{2}$ (Cornot-Clousius theorem)
 $dS \ge \frac{dQ}{T}$
In increasesible thermodynamics: $dS_i > 0$
Central goal is to relate this contribution to the entropy production.
 $S = \int dT = \int dT = \int dS = -\int dS = dS = 0$
 $dS_i = \int dT = \int dS = -\int dS = dS = 0$
 $dS_i = \int dT = \int dS = -\int dS = dS = 0$
 $dS_i = \int dT = \int dS = -\int dS = dS = 0$
Using Gau β low, we find:
 $\frac{dS_i}{dt} = -\nabla \cdot \vec{J}_S + \sigma$
 $\sigma \ge 0$ (entropy production must be positive
even (locally, 1 strong conjecture)
 $locally: Tds = de - \sum_{k=1}^{N} MedQR$. for a volume there of followed
along its centre of forwith motion

$$T\frac{ds}{dt} = \frac{dc}{dt} - \sum_{k=1}^{\infty} M_{k} \frac{dy_{k}}{dt}.$$
For now no convection:

$$\frac{d}{dt} = \frac{\partial}{\partial t}.$$

$$\Rightarrow) \frac{\partial}{\partial t} = -\frac{\nabla \cdot T}{T} + \frac{1}{T} \sum_{k=1}^{\infty} M_{k} \nabla \cdot T R.$$

$$= -\nabla \cdot \left[\frac{J}{0} - \frac{\nabla}{T} M_{k} \frac{J}{T} R - \frac{\nabla}{T} \left(\frac{J}{T} R - \frac{\nabla}{T} \right) + \frac{J}{T} e \cdot \nabla \left(\frac{J}{T} \right) \right]$$

$$-\frac{1}{T} \sum_{k=1}^{\infty} \frac{J}{T} R \cdot \nabla \left(\frac{M_{k}}{T} \right)$$
Gomparison to the entropy balance gives:

$$\frac{J}{5} = \frac{1}{T} \left(\frac{J}{T} e - \frac{\Sigma}{R} M_{k} \frac{J}{T} R \right)$$

$$\sigma = \frac{J}{6} \cdot \nabla \left(\frac{J}{T} \right) - \frac{\Sigma}{R} \frac{J}{T} R \cdot \nabla \left(\frac{M_{R}}{T} \right).$$
Separation into div + Scarce term is constrained s.t. $\sigma = \sigma$ in equilibrium, and that it must be invariant under a Galilei transformation.
Furthermore, $\frac{dS}{dt} \ge -\int \frac{J}{QT} \cdot \frac{J}{T} \cdot \frac{J}{T} \cdot \frac{J}{T} \cdot \frac{J}{T} \cdot \frac{J}{T} = \frac{J}{T} LidFi Fk - \frac{J}{T} - \frac{J}{T} = \frac{J}{T} LidFi Fk - \frac{J}{T} - \frac{J}{T} + \frac{J}{T} = \frac{J}{T} = \frac{J}{T} = \frac{J}{T} + \frac{J}{T} = \frac{$

The only thing left to prove is Onsager reciprocity.
For this we need the so-called Einstein Justiciation theory.
Einstein fluctuation theory
We write the local entropy as
$$ds = \overline{p} \cdot d\overline{p} \in \operatorname{Queralised}_{densities.}$$

 $generalised$
 $gene$

Note that g must be positive definite (recard low).

$$g = g^{T}$$
 (S is a state function).
Note furthermore $g_{\alpha\beta} = g_{\beta\alpha} \Rightarrow M_{\alpha} well relations.$
Assuming that $= \infty < a_{k} < \infty$, we have that
 $P(E_{i}\vec{p}) = P(\vec{\sigma}) = \sqrt{\frac{det g}{(\alpha r \ell_{B})^{n}}} \exp\left(-\frac{\vec{a} \cdot g \cdot \vec{a}}{2k_{B}}\right)$.
This is a Gaussian distribution, so: $\langle \alpha_{i} \alpha_{j} \rangle = k_{B} g_{ij}^{-1}$
 $\langle \vec{\sigma} \vec{a} \rangle = l_{B} g^{-1}$
which follows also from $\langle \left(\frac{\partial Zs}{\partial \alpha_{i}}\right) \gamma_{j}^{*} \rangle = -k_{B} \delta_{ij}$ (exercise).
To proceed, we need to extend above formalism to include
temporal fluctuations.
Since $\Gamma = \Gamma(t)$, where $\Gamma = (\vec{p}^{H}, \vec{r}^{N}) \Rightarrow \vec{\sigma} \neq \vec{a}(t)$.
Recall time evolution is given by $\frac{\partial \vec{p}_{i}}{\partial t} = -\frac{\partial H}{\partial \vec{p}_{i}}$
with δN unitial conditions.
Note that these equations are invariant under $t \rightarrow -t$
 $\vec{p}^{H} \rightarrow -\vec{p}^{H}$.

g

Now consider joint probability distribution that
$$\vec{\alpha} = \vec{\alpha} \cdot (6)$$

 $\vec{\alpha}' = \vec{\alpha} \cdot (1)$
 $P(\vec{\alpha}, \vec{\alpha}'; t) = \int d\Gamma (d\Gamma' P(\Gamma, \Gamma'; t) \delta(\vec{\alpha} - \vec{\alpha} \cdot (\Gamma)) \delta(\vec{\alpha}' - \vec{\alpha} \cdot (\Gamma'))$
 $\Gamma = (\vec{p} + (6), \vec{r} + (6)) \quad \Gamma' = (\vec{p} + (t), \vec{r} + (t)).$
where it is implied that integrations of Γ and Γ' are confined to
energy shell $(E, E+dE)$
Now consider conditional probability $P(\vec{\alpha} \mid \vec{\alpha}'; t)$
Probality to have $\vec{\alpha}'$ at time t given that system was at $t=0$
at $d = 1$
Then $P(\vec{\alpha}, \vec{\alpha}'; t) = P(\vec{\alpha} \mid \vec{\alpha}'; t)P(\vec{\alpha})$
 $= \int d\Gamma (d\Gamma' P(\Gamma)P(\Gamma|\Gamma'; t) \delta(\vec{\alpha} - \vec{\alpha}(\Gamma))\delta(\vec{\alpha}' - \vec{\alpha}(\Gamma'))$
 $(E, E+E)$
 $= \int d\Gamma (d\Gamma \int d\Gamma' P(\Gamma|\Gamma'; t) \delta(\vec{\alpha} - \vec{\alpha}(\Gamma))\delta(\vec{\alpha}' - \vec{\alpha}(\Gamma'))$
 $E(E, E+E)$
Because of microscropic time reversibility:
 $P(\vec{r}^{N}, \vec{p}^{N} \mid \vec{r}^{N}, \vec{p}^{(N)}; t) = P(\vec{r}^{N}, -\vec{p}^{N} \mid \vec{r}^{N}, -\vec{p}^{N}; -t)$
 $= P(\vec{r}^{N}, -\vec{p}^{(N)} \mid \vec{r}^{N}, -\vec{p}^{N}; t)$
This expression shows that if we reverse momenta, particles retrace
their former path.
Let's apply this expression to

$$P(\vec{a})P(\vec{a}|\vec{a}';t) = \frac{1}{\Omega} \int d\Gamma \int d\Gamma' P(\Gamma'|\Gamma;t) \delta(\vec{a}-\vec{a}(\Gamma)) \delta(\vec{a}'-\vec{a}(\Gamma'))$$

$$(e, E+dE)$$

Here, we used that
$$(\vec{r}^{N},\vec{p}^{N}) \rightarrow (\vec{r}^{N},-\vec{p}^{N})$$

 $(\vec{r}^{N},\vec{p}^{N}) \rightarrow (\vec{r}^{N},-\vec{p}^{N}).$
and that \vec{q} variables are wen functions of momenta, i.e.
 $\vec{q}^{N}(\vec{r},^{N}\vec{p}^{N}) = \vec{q}(\vec{r}^{N},-\vec{p}^{N})$

=> P(a) P(a'[a';t) = P(a') P(a'[a;t). (detouiled balance) From detailed balance one can show that:

$$\langle \vec{a}(0)\vec{a}(t) \rangle = \langle \vec{a}(t)\vec{a}(0) \rangle$$

=) $\langle \vec{a}(0)(\vec{a}(t) - \vec{a}(0) \rangle = \langle (\vec{a}(t) - \vec{a}(0))\vec{a}(0) \rangle$
Divide by t and take $t \rightarrow 0$
 $\langle \vec{a} \frac{2\vec{a}}{\partial t} \rangle = \langle \vec{a}\vec{a} \vec{a} \rangle (\kappa)$ It since in equilibrium
time-translation invariance.

Onsager regression hypothesis: Decay or regression of spontaneous fluctuations is governed by the same laws as macroscopic flows that occur in response to an external perturbation.